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~ GSE Honors Algebra 1
of money that Jane spends on groceries. If Jane spends X

1. Jimmy is spending twelve less than COXZ= = |
amount of dollars, write an expr s the amount that Jimmy spends.

€ 2% — 1% | L
| 5. Ashley is 6 years less than triple her grandfathe(r'ﬂs age. What would be the expression for this:
X 7! .
6 han triple the other. \Write an expression for the area and

pigs. One side is 4 lesst
ch fencing to buy fort

Pegm Mt
3x -4 W4 4+ 3x-4 X X =4
4. Simplify the following

d. (ﬁf+¥-6)+@+g+5)—g+w b.w—}f+ gy_z)-(lO —_13(+M
74
""{xtj +14X +Y -0

5. Multiply the following polynomials. Lb(\ -

3. We are building a pen for our

perimeter so you know how mu he pigs and how much room they have?

a. (4xy—1)(5xy+4)
2,2 6>(3——lox7’+x“’-—%<5+’°‘x"
20y + Xy~

6. Calculate the area and perimeter of the rectangle
G 2 »
Area: ‘ 22{ d + ]ZX 3" 35X - 28)( Perimeter: [ (@ "" 8)< lq

3x% —7

l l: 5x2+4x

7 What is the coefficient in the term 5" ? E 2 What does coefficient mean? (explain in words)
&0 Ao of venao\u

8. How many terms does the expression have: 3x'+2x’-5xy +4 = ‘-'l

What is a term? How are terms split up? .
i arol/of \prodd GOV up by o + 0B T S\
9. a.Simplify \/gx[(gs@ b. Simplify (4x — 2v/3)(7 + 6V3x)

10. Simplify th ing: — 4y7740
implify efollowmg. 3x\/9/?@x v’z

Xy 60 (P
Hb%Z

11. A rectangle has a total perimeter of V72 and a side length of v12. What is the length of the other side?

s L -
25

S —




13. Your grandmother has bought a rectangular table that
side lengths of 3/18 on two sides and Zﬁ on the

has ¥
@ i\ other two sides. What would be the area of the table
ther has?
/‘\/ ”3? your grandmotner Z ‘\r— v (
O 7

Na—mran3-9e totVzg W _ /%
D, 6& e w7

14. Yo r1pool is filling up at a ratebo? 00 gallons/hour. g
47000
M e DT
o

(1 gallon = 3.785 liters) ggj’ ?Bf)ﬁ_/_ "
s ,o_l/_o; e~ 300_
[200]. b7 m“‘/fty(,
es/g_m_i_rﬁ (3.3ft=1m, 12in=1

r speed in inch
——

15. You are driving at a speed of 90 meters/day. What is you
G, 1 W, 3 < 394
Topt Tt o T b

16. The approximate di

(1 km =0.621 miles) V\/\l E _S_

V H ;r?:ou;cu:cm:m) MM __ldo]
VI R lye  S5dS” TUhe ) l:/ IO(WQW(

18. State if the value is rational or irrational 19. State if the value is rational or irrational: 83,000000
B +7-5V2 V21 - V75 + 4 0.000S km/he.
a. Rational orcircle one
M ) 3! or irrational? (circle one)

b. Explain (how do you know) : e (sl know)
448 58__@*?'&‘_”2 2adital st -5 4y= 10 AlLge feck sg(we‘[——
WNLt+? rblem. #5S ,S0ND AUl

20. The'‘product of two rational numbers sometimes / never rational. (circle the best choice) thar- ok e
ers N &on,

1. Show 2 examples of this with numE
[/

o ol . @
» — / 0 /’;, _— :
4 : .8 1’4" B § _
21 The sum of two irrational numbers is always @ never irrational. (circle the best choice)

1. Show 2 examples of this with numbers

vz - M e Ao NENT=3 R

V

29 Use the formula given: d = = where velocity, v, IS cm/sec and time, t, is sec. What ar;;il units for d?

(""“) pOF Tmt =
St el



